You are in charge of fiscal policy and monetary policy for a country that faces the following

Real GDP Growth 	-2%
Unemployment Rate 	8%
Inflation Rate 	8%
Federal Government Deficit 	$300 Billion
Prime Interest Rate 	12%

[bookmark: _GoBack]Which set of fiscal and monetary policies is most appropriate in this situation?

A) Government Spending – Military  +5%
Government Spending – Infrastructure  +5%
Income tax change  -5%
Payroll tax rate change -5%
Investment tax credit
Reserve requirement
Open market operations
Interest rate on bank reserves
Discount rate

B) Government Spending - Military
Government Spending - Infrastructure
Income tax change
Payroll tax rate change
Investment tax credit
Reserve requirement +5%
Open market operations -5% (sell)
Interest rate on bank reserves +5%
Discount rate +5%

C) Government Spending – Military +10%
Government Spending – Infrastructure +10%
Income tax change -10%
Payroll tax rate change -10%
Investment tax credit +10%
Reserve requirement +10%
Open market operations -10% (sell)
Interest rate on bank reserves +10%
Discount rate +10%

D) Government Spending – Military +5%
Government Spending – Infrastructure +5%
Income tax change -5%
Payroll tax rate change -5%
Investment tax credit +5%
Reserve requirement +5%
Open market operations -5% (sell)
Interest rate on bank reserves +5%
Discount rate +5%

E) Government Spending – Military -5%
Government Spending – Infrastructure -5%
Income tax change +5%
Payroll tax rate change +5%
Investment tax credit -5%
Reserve requirement -5%
Open market operations +5% (buy)
Interest rate on bank reserves -5%
Discount rate -5%

